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QUESTION 1

A company decides to establish the following system-wide password policy: 

Minimum length of password: 8 

Minimum upper case characters: 2 

Minimum number of numeric characters: 2 

Maximum age: 90 days 

Which procedure should the system administrator use to establish the password policy? 

A. Edit /etc/useradd and set the following parameters MlN_PASSWORD_LENGTH=8
PASSWORD_MIN_UPPER_CASE=2 PAS SWORD_MIN_N umbers =2 PASSWORD_MAXDAYS=90 

B. Run passwd -w default -o min_length:8 -o min_upper: 2 -o min_special:2 -o max_d.ay3 : 90 on the command line. 

C. Edit the named parameters by means of the System Management Homepage (SMH) in the User db Section for all
local users. 

D. Edit /etc/default/security and sat the following parameters: MIN_PASSWORD_LENGTH=8 PAS SWORD
_MIN_UPPER_CASE_C MARS=2 PASSWORD_MlN_DlGlT_CHARS=2 PASSWORD _MAXDAYS=90 

Correct Answer: A 

 

 

QUESTION 2

A process (PID 2314) forks three other processes (PIDs 84SS. 8469. and 8500). What is the relationship between those
four PIDs? 

A. All four PIDs are children because, they are running under the same kernel. 

B. All four PIDs are parents because they are running under the same kernel 

C. PID 2314 is the parent, and the other PIDs are its threads. 

D. PID 2314 is the parent, and the other PIDs are its children. 

Correct Answer: D 

 

QUESTION 3

An HP Integrity system is inaccessible I he HP response center needs a memory dump to troubleshoot the problem.
The system administrator can access the "CM>" prompt by logging into the iLO port. 

Which command can be used to start the memory dump? 
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A. r 3 

B. toc 

C. tc 

D. reboot 

Correct Answer: C 

 

QUESTION 4

The kernel We vmunix is corrupted or missing, resulting in the server not booting Which command must the system
administrator run to boot me server from the default backup kernel file? 

A. boot vmunix.old 

B. boot vmunix.bkp 

C. boot vmunix. prev 

D. boot backup 

Correct Answer: D 

 

QUESTION 5

Refer to the exhibit 

Which address is used on Layer 2 of the OSI Reference Model? 

A. Internet Protocol Address (IP) 

B. Transmission Communication Protocol (TCP) 

C. Server Message Block (SMB) 

D. Media Access Control Address (MAC) 

Correct Answer: D 
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